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N.B. .— (@) Attempt All questions.
(i1) All questions carry equal marks.
@) wd WA e
(i) W& WEAA GEE O SR
MCQ
1. Multiple Choice Questions (i)—(x) : 10
IR T ()—(x) :
@) Which relationship has between the price level and value of
money ?
(A)  Inverse (B) Positive
(C) Inverse and positive (D) No relationship
frra daes oTfoT YN god Ar=AHed S WEuEl §eY oTEd 7
(A) =W (B) @H
(C) = smfor @A (D) HIUAR HEY AR

(@)

Which of the following components included in Aggregate Demand ?
(A)  Consumption demand (B) Investment demand

(C)  Government expenditure (D) All of these
P.T.O.
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(C) W& T (D) U wd

Which one of the following equations, was used by Fisher to explain

the quantity theory of money ?
(A) MV = PT (B) MP = VT
(C) MP = PT (D) PV =MT

T FAHH fagid T2 HLvamErel ThIr I Sefiaiueh! shIvca HiHR Lo

IR el

(A) MV = PT B) MP =VT
(C) MP =PT (D) PV = MT
Acceleration = ............
(A) Gt (B) ol
AS AY
(C) A% (D) aY
AC AC
TTEF o e
(A) Sk (B) A0
AS AY
(C) o (D) aY
AC AC

Which economists definition of Income is related to consumption ?
(A)  Marshal (B) Pigou

(C)  Fisher (D) R.K. Rao

86FESFDE3068E36A4773C9158A67C0D3



WT

(vi)

(vii)

(viid)

(ix)

( 3 ) B—287—2017
IV ALYV TR AT AT STHRER STHRAA 3R 2

(A) A B)  fog

(©) feer (D) ¥R @

Which of the following is not a phase of business cycle ?

(A)  Prosperity (B) Revival

(C)  Depression (D)  Law

WATAIRT IV STaEdl AR Fehrl ATer ?

(A) (B)  gESSiteA

(C) = (D) faelt

“Supply creates its own demand”, this statement comes from :
(A) J.B. Say (B) J.S. Mill

(C) David Ricardo (D) A. Marshall

“qrgael Tl "l T i s ® faum @il e 2
(A) S 9| (B) w.wg. fi&

©€) =fwe et (D) 3. AR

Total National Income divided by Total population is called ..........
(A)  Personal Income (B) Per Capita Income
(C)  Money Income (D) Real Income

TR T IO THY ARSI Rl S| fiyead.
(A) Al 3T (B) <TEER A

(C)  Hifgh SU= (D) o 3=

Who has formed the first index number in the world ?
(A)  France (B) Italy
(C) dJapan (D)  America
P.T.O.
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(A)  Hrd (B) et
© s (D) s
(x) ~ Marginal propensity to consume = ...........
A A—I B ﬁ
@ 3 ® =
©) AC (D) AC
Al AY
gHE| S99 -gq;ﬁ e
A A—I B ﬁ
@ 3 ®
o = Dye <BE
©) AT (D) 5
Theory

Explain the methods of computing National Income.

T Icq= 0= UGal T .
Or
(fenam)
What is the trade cycle ? Explain the phases of business cycle.

MR dsh US| hF 7 AURAHRA] AT T H.
Discuss the Say’s Law of Markets.
Q' = SR frEEE gfae ==t w9
Or
(fenam)

Explain the Fisher’s quantity theory of money.

Ry I aEa™H fagid T .
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4, Write short notes on (any two) : 10

() Consumption function

(i)  Multiplier

(ziz)  Functions of Money

(v)  Difficulties in National Income Accounting.

e few fagr (vgr aq)

@) SUET e

@ TR

Gii) e

(v) TSEE 3G TYUE I ASIUN.
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